Year 2 Division - Maths Day 5 	More Reasoning				12.6.2020  
[bookmark: _Hlk40627517]Try these reasoning questions and answer them the best you can. You may need to use resources or paper to work out your answers – do not expect to do all the work in your heads. Thank you.
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Super Challenge – If you feel very confident, you can have a go at these reasoning questions too!
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éa. True or false? 6b. True or false?

80 60

8 tens divided by 10 equals 9 60+10=10
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1a. George is going to share 30 marbles

between 10 people.
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He says,
| think everybody

will get 10
marbles each.

Is he correct? Explain your answer.

1b. Adlia is going fo put 20 buns info
bags. She is going fo put 10 in each bag.

I think | will have
enough for 3
bags.

Is she correct? Explain your answer.
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5a. These are the ingredients needed to
make 10 chocolate crispy buns.

5b. These are the ingredients needed to
make 10 butterfly buns.

Complete the ingredients needed to
make 1 chocolate crispy bun.

chocolate | 1209 sugar 1109
tice pops 1009 butter 709
butter 90g flour 1009
syrup 80g milk 30ml
Complete the ingredients needed to

make 1 butterfly bun.
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4a. Mary is going to share 80 sweets
between 10 people. She says,

| think everybody
will get 9 sweets
each.

Is she correct? Explain your answer.
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4b. Danny is going o share 60 biscuits
between 10 plates, He says,

I think there will
be 7 biscuits on
each plate.

Is he correct? Explain your answer.
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7a. 2ach has ninety sweets fo share
between 10 people. He gives everyone 1
sweet. He says,

The rest of the
sweets can be
shared using the
culculuhon

+10=8

15 he correct? Explain your answer.
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7b. Befty has eighty stickers to share
between herself and nine friends. She
gives everyone 2 stickers.

J

The rest of the
stickers can be
shared using the
caleulation
70:10=7 )

Is she correct? Explain your answer.
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. These are the ingredients needed fo
make flapjack.

8b. These are the ingredients needed fo
make chocolate ice cream.

e 2 e ] s ]
butter 10g chocolate | 1209
syrup 509 cream 300mi
sugar 1g sugar 89
oats 1209 egg yolks sg
Complete the fable. Complete the fable.

=

9. Complete the boxes fo make the
following statements correct.

9b. Complete the boxes to make the.
following statements correct.

A =10 > = 10 A =10 > x 10
5. x 10 < + 10 5. £ 10 < = 10
c. =10 < = 10 <. £ 10 < x 10
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6a. Spot and correct the mistakes.

6b. Spot and correct the mistakes.

30+ 5 = 7 45+ 5 - 8
3 x 5 = 15 6 x 5 = 30
4 + 5 = 9 25 = 5§ - 2
2 x 5 = 10 4 x 5 = 20
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9a. Spot and correct the mistakes.

9b. Spot and correct the mistakes.

5 packets of crisps shared between 5
people = 1 packet each

10 marbles shared between 5 people =
1 marble each

Nine lots of 5 sweets equals 40

Three packs of five cards equals 15
cards

5 cinema fickets = £30, each ticket
costs £6 each

5 frain rides = £20, each frain ride
costs £5 each

41lofs of 5p = 25 one pence coins

Eight 5 pence coins = fwo 20 pence
coins
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1a. Divide the money below by 10 and
create a number sentence.

1b. Divide the money below by 10 and
create a number sentence.
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5a. Divide the money below by 10and | 5b. Divide the money below by 10 and
create a number sentence. create a number sentence.
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